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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-IV « EXAMINATION — SUMMER - 2015

Subject Code: 342902 Date: 07-05-2015
Subject Name: Weaving Technology - 11
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (a) Give the objects of sizing. List the different ingredients used in sizing. 07
wal. 1w ASAdLoll Sl Rl ULESAHL cuRpn Al UELAloll oM WU, 09
(b) Explain object any three ingredients used in sizing. 07
ol AUSAHHL AURpUAL 5165 UL AQL UELAotl Sl QU 09
Q.2 (a) Draw the Multi cylinder sizing machine with neat sketch. 07
yal. 2 A Ul Alllos? weSoflot Hallotoll 2ete9 A 12\ 09
(b) Explain the passage through Multi cylinder sizing machine. 07
o HE Allos? Aot HallotHi Alololl et AMestal. 09

OR
(b) Explain the modern Size-box with neat sketch. 07
ol HLSel ABAoL Hallet 21269 Ls(A A UMl 09
Q.3 (a) Explain the construction & working of SLSC jacquard with neat sketch. 07
Ysl.3 A SLSC BstSell 2Aotl A 5121 Ugld 2et2e9 gl WA wmestal. 09
(b) Explain the construction & working of DLSC jacquard with neat sketch. 07
ol DLSC ®518e{l 2uoll wal 5121 ugld 21269 25(A WA AH A 09

OR
Q.3 (a) Explain the construction & working of DLDC jacquard with neat sketch. 07
Usl.3 3w  DLDC Bslell 2uotl val 5121 Ugld et u1s(A AL UM 09
(b) Explain the Norwich Tie with neat sketch. 07
ol Norwich Tie 129 (5[ AL UM 09
Q.4 (a) Explain the Eccles’s Drop box mechanism with neat sketch. 07
Usl.¥ ¥l Eccles’s Drop box mechanism 2cl269 uLs(d W& AHsAl 09
(b) Give the Object of weft feeler in Auto loom. Give the classification of Weft 07

feeler.

o BllGHUl Age sletRq] st eeudl. Age sleRe] collsaL L. 09

OR
Q.4 (a) Explain the safety mechanism in Eccles’s Drop box with neat sketch. 07
Usl. ¥ ¥l Eccles’s Drop boxHi A3l HIBellosH 1269 us(d A& uHstAl 09
(b) Explain the Electrical weft feeler with neat sketch. 07
o BASEISE Age LR 29 ALs(A A AUl 09
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Explain the Pirn changing mechanism with neat sketch.
Uol Aooflot HlFo{lost et vuts(A U UM A
Explain the electrical warp stop motion with neat sketch.
SASZLSE clld R Hl2lot e 249 AL WA AHestal

OR
Explain the Bartlet let-off mechanism with neat sketch.

Bartlet let-off H13o{losH 2c1269 (A A AL,
Explain the Midget feeler with neat sketch.
Midget $lc1? 2c169 wLgA A AHs A,
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